Reasoning

Rosie has 5 silver coins in her purse.

She can make 40p with three coins.

She can also make 75p with three coins.

How much money does Rosie have in her
purse?

Amir has 5 different coins in his wallet.

What is the greatest amount of money
he could have in his wallet?

What is the least amount of money?



Answers

Rosie has 5 silver coins in her purse. Rosie has 95
pence in her purse.
She can make 40p with three coins. She has one 20p

coin, one 50p coin,
She can also make 75p with three coins. | two 10p coins and

one Sp coin.

How much money does Rosie have in her

purse?

Amir has 5 different coins in his wallet. Greatest:
£3 and 80p
| east:
38p

What is the greatest amount of money
he could have in his wallet?
What is the least amount of money?



